b)

iv) Purchases of Rs.1,500 was recorded in sales book
851,500 T3, eisro HJEoS” 5356 IV

v) Amount received from Sita Rs.250 is credited to Suguna
account
0F 200¢ FodD 837250 K Dores PPEE §@deS 318

vi) Goods purchased from Ram for Rs.500 are not recorded in the
accounting books
o750 Koo TP 5806 852500 0 grer HITeS 333
DO0SE0

Define a cash book. What are different types of cash books and
give the specimen of three column cash book and explain about
Contra entry

IS H{ED0D B, F38°D B0 BOAI000G. D0
JBoJe Hcsy Ve, AT, HHoseo Ty, BB DAY Ko80D
D3BoBod

OR

A bill for Rs.2,000 is drawn by Raghava on Suri and accepted by
Suri payable at the State Bank of India. Write the Journal entries in
the books of Raghava under these circumstances.
orgnd 85°.2,000/- 3370 T0d 30T 5578 @oA¥doBM. §08
K)oCSO";)OéS oS Hses DeT? BBI00 733006
i) If he retained the bill till due date and then realized it on
maturity
Reo) 88 B8 Tvo6 K3 &oioTd, KK 88D Doy,
e3580326 8

ii) If he had discounted the same with his bankers for 1900/-
06 25068”1900 Bov. G ot Bo8oHe ond

iii) If he had endorsed it over to his creditor Rao in settlement of
his debt
23 2HEd TP wrd oo Mo Hey B wd
B0Jey 00
iv) If he had sent the same to his bankers for collection
TR0GR HXeo DES,B 2poda’d Doddey oS
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Instructions:  All parts of the unit must be answered in one place only.
Figures in the right hand margin indicate marks allotted.

SECTION-A

1. Answer any Four of the following:

(4x5=20)
808 738" DI Trerhy HFHOK IBTEIINe T3,05906

a) Features of double Entry System
aoé,o:)é% DI/ o&néb £r0000

b) What are the limitations of Accounting?
@ otdofi B SONBIE?

c) Distinguish between Cash discount and Trade discount
SRS BYotn, SEIY A oeSo DS Sarots B oS0

d) What is Manufacturing account? Give specimen of Manufacturing
account
éféoegéﬁaéoﬁ P ST O? :ﬁvéo?gﬁ,)éaéoﬁ_ EORT BN AULEV R
ELIOMS)PRWN

e) State the need for Bank Reconciliation Statement
2g0%) Dejo IBROS Hed Bw¥) eBEES BenHIn

f) Joint venture
ég;so&cfo a‘*?g&’é;sw

g) What are the objectives of providing depreciation?
SEADSO TN OFged DI?



SECTION-B

Answer all questions (5x10=50)

s $00 HFodNoedd IV IR0 T05008

2. a) Define accounting. Explain about different accounting principles

9083000 f\')écsﬁ)of), TS I JN0okoc

OR

b) From the following balances prepare Final accounts for the year
ended 31-3-2009
$00 30N Jogo Moct INAoY) S¥ a0 S5BI380G.

31-3-2009 PINT NoetEA ]

Debit balances-c®e5 degeos Credit balances- 3¢5 degen
Rs. Rs.

Cash in hand-38¢° $r¢% 540 | Sales-edyseen 98,780

Cash at bank-erjo%:8" SK 2,630 | Returns outwards 500

2050838 FIdoen

Purchases-“s‘mﬁ‘m@ 40,675 | Capital-Soscocs S0 62,000

Returns inwards- 680 | Creditors-anesaeeen 6,300

S8 Do

Wages-ddaren 8,480 | Rent-og 9,000

Power-3$ 4,730

Carriage on sales- 3,200

@:)J&S"e):.g ST

Carriage on purchases- 2,040

T 00 Sarer

Stock (1.4.08)- 5,760

3856 (1.4.08)

Buildings-25 Saren 22,000

Land-g5s2 10,000

Machinery-ossoa,es 20,000

Investments-2¢2) 20¢oo0 10,000

Patents-de3o0e0y. 7,500

Salaries-£ar oo 15,000

General expenses- 3,000

FBes PV

Insurance- &35 600

Drawings-&ros accsseen 5,245

Debtors- aeats,Bo,o0 14,500

b)

Adjustments - 58y2red 1

i) Stock on hand on 31.3.2009 is 6,800
31.3.2009 o788 380% Doy 6,800

ii) Bad debts 725 - o=dzrden 725

iii) Rent received in advance Rs.1,000
S008ore HMD &g %5°.1,000

iv) Machinery is to be depreciated @ 10% and on patents @ 20%
0%0d,02 10% $5805% E)QOQJ})W:.._) 20% 80508 éébozﬁoc%

V) Interest on investment of Rs.2,000 is accused
2N VE0D TIOVD é&& 65°.2,000

From the following particulars prepare Bank Reconciliation

statement

208> DofoIR0 589 S8y BoSod

i) Balance as per cash book 74,300
BHE HIEE0 HFBHD @08 Jeg

ii) Cheques issued but not presented for payment 4,000
030026, 39 0P Trees 5 IEY e

iii) Cheques deposited but not credited in pass book 4,500
AR5 300ad, FYIFToS adeS sdLnBoLd
ﬁéoboo

iv) Bank charges debited only in pass book 300
FRYTIS g GHS IodS W Py

v) Dividend on investment credited in pass book 1,500
FDYPHES” 385 Sawdd deoywre NS S¢

OR
Rectify the following errors by using Suspense Account

BT HB PTE K SIBTAD $08 B JHBes B0

i) Rent paid to Ranga Rs.1,000 was debited to his personal
account
BormrEd 38 00B ed 85°.1,000 ese8Q BRY), HENS P
GES Jbaed

ii) Purchases book was over cost by 500
T HYEo 20850 IEY,IM $¢36 65500

iii) An item of Rs.89 was posted as Rs.98 in the sales A/c
65°.89 @ogind 65798  wIYFe PrarS FArE B1T



5. a) Ajay of Delhi sent 500 bicycles on consignment basis to

Amar of Hyderabad. The cost of each bicycle is Rs.300 but
the invoice price is Rs. 350 per bicycle. Ajay pays Rs.500
towards packing and dispatch. Subsequently Amar informs Ajay
that 400 bicycles are sold for Rs.400 each. Expenses paid by Amar
were Freight Rs.1200 godown rent 900 value the stock at invoice
price. Amar’s commission was 10% on gross sales. Prepare
consignment account and Amar account in the books of Ajay.
38D 0w 500 288, %o PrSTrerdIstd @b K ERHVI0L0D
Soddn. H8 288 906 300. =D A aa‘:goooﬁ &8 65°.350. e9e305>
38 00D 3”5%05 508052 Doned PByyew 85°.500. 58 Bood $DyS
oot oy $5°80 400 288X .58 ed 85400 THYS edpSen
8D By P e B e 851,200 FES o 85°.900 38 006y
23 E1AS e3Nstod 10% ADS IBoE IS 3IGOND S8
B8 o0d. @zl HITS E5TW0ewn PrE OB w8 e
B33°B230800G.

OR

David and Kapil enter into joint venture sharing profits 3/5

and 2/5. David is to purchase timber in Bombay and forward

it to Kapil in Delhi. David purchases timber worth Rs.10,000
and pays Rs.1,000 as expenses. Kapil received the goods and
immediately accepted David’s draft for 8000. David got it
discounted for 7,850. Kapil sold the timber for 16,000. He had
to spend Rs.350 for fire insurance and 300 for rent. Under the
agreement, he is entitled to a commission of 5% on sales. Write
ledger in the books of David & Kapil.

3/5 S0, 2/5 S0 grmed HoSoBIdeeN T GIE H0BAS DS

SING TYIBo IDer By, Fowrond' $o5H T ¢S $18 &
Sodoire. GIE 85°.10,0000 28 Ko Losin T, pdnod
651,000 380wy, I8 e SBBID AEO0D, Dotdd GIE TD
65°.8,0000 oy % @ohSbomrcy. EIE &8 Hey K wods’
5°.7,8508> ;0 B, ¥28 Sodd 65.16000 o% 0, o)
H3g 6535000, @33 8573000 390w, 2.B)oto I 3BIS

o3NsTep 5% EHID 08 § aHe. EIE 2O §38 Hisos
33007, &33,0800G.

6. a)

b)

Explain the errors disclosed by Trial Balance
@oSer Grfor BB K03y SO IFBoSIN

OR

A firm purchased certain mill machinery for Rs.40,000 on
1.1.1980. An additional machinery costing Rs.20,000 was
acquired on 1.7.1980. On 1.9.1982 the machinery acquired
on1.1.1980 was sold for 25,000. Assuming that 10% depreciation
is charged on diminishing balance method. Show machinery
account upto 31.12.84. Accounts are closed on 31 December of
every year.

28 oy & 0Soar,d) 1.1.1980% 85°.40,000% $Ha. 1.7.1980% es
$og 2BBNE @SS o) 657.20,000% THo. 1.1.1980% )
O8o085,30 H0H¢5D 1.9.1982% 25,0000%5 @Zb&f)i)é@. 0%
81050 10% TS SM803) dojo 35S° 1984 dowds 31
JBE> A30088,500 PP BIrdock. HB J0IByHEI0 Pror HI SO
G028 318" S0AJ 00D e dotsod
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